Object-Oriented Analysis and Design
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2031. Define Essential Use Cases

Use Case 1. Set current time
Actor User
Type Evident

Pre - Requisites

mode?} Time-Keeping 2 Ef 0 OfF $HLC},

Typical Courses of Events

(A) : Actor (S) : System

U0l HEE[X| @ S=tCt.

1.  (A) ¥ section(X, &, Al, &, &, &)S MEISICE
2. (S) i sectionS ZtrolCt,
3. (A) sectionS ="dtCt,
4. (S)&HO| EOojFELCt,
Alternative Courses of Events N/A
Exceptional Courses of Events | Line 3: Zt section(X, &, Al, &, &, ¢)0| stAX|0f =32
4 2 1 Ot section?| 242 S7HAI7| 1 sHA X[ off =& st
section?| ¢t= 0= THECLL
Line 3: A|7HE =ESICH7F A|ARIO| CHRE|= 42, HET 4




2031. Define Essential Use Cases

Use Case 2. Set timer
Actor User
Type Evident

Pre - Requisites

ModeZ} Timer AHE} Of OF SHC},

Typical Courses of Events

(A) : Actor (S) : System

1. (A) - AZte| TR E M EISICE
2. (S °4XH *"*OF._ AI to| T[S HEA|BHCY,
3. (A ST BRI A2t =™ 2 XTI
4. (S) 20 et T AIZHEHE HF =0
5. (S)HEE A7HS BAISD 47E0| k= EHM7HX| gt
=23ict,
Alternative Courses of Events N/A
Exceptional Courses of Events | Line 1:2} th@|2] Z=|f S 2 X4~ 5 =1t 22 0| 5= =3
e+ % EH% ot 82 2A =, X[AE 0|EHS= =82

Z|CHZ FEA[SC}




2031. Define Essential Use Cases

Use Case 3. Start timer
Actor Actor
Type Evident

Pre - Requisites

Set TimerOfl 2|SjA] 0Z=E =
AR | 0f Q10{OF SHC}.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) SystemOf Timer2| A|ZH2

2. (S) 280 A= AlZHOM
e} 7t2 E Ch2 ottt

Qs
2 AR AlZHo] 520

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : Timer2| A|Zt0| M ™HE|O] R
X 0| QIS0 BA|SHT},

AR EALE0Z=O M AlZF 2




2031. Define Essential Use Cases

Use Case 4. Pause Timer
Actor User
Type Evident

Pre - Requisites

64 X System= EfO|M o}HES Z2St11 QL0{OF otCt,
M2 A7t 2 EFO|M 7t Al

=

Typical Courses of Events

(A) : Actor (S) : System
1. (A): SystemOf|A| EtO|H HX|E QX TILCL.
2. (S): 3%3¢2 EtO|HE FX|TtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 5. Clear Timer

Actor Actor

Type Evident

Pre - Requisites SAXf System2 EtO|M 2tHS =St QL0{OF BHLY,
Typical Courses of Events (A) : Actor (S) : System

1. (A): System O|A| EtO| =7|3IE Q™ BiCY,
2. (S): EIO|}E 022 HfELC},
3. (S): EtO|HQo| @O Z CIA| ZOFZICE,

Alternative Courses of Events N/A

Exceptional Courses of Events | Line 1: 0|0] E}O[T{2[ A[Z+0] 0@ & EHO| M Clear 20| S0
QM SA[SHCY.




2031. Define Essential Use Cases

Use Case 6. Notify the end
Actor System
Type Hidden

Pre - Requisites

=2 A

X System EfO|HE &S RUO{OF SHCf,

EfO|H7} 00| &[0fOF BHLY.

Typical Courses of Events

(S) : System

1. (S) EfO|}7} 00| £[™, System2 Beep=

N3
A

SAIZIL.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : CHZ Beep?} 0|0

PN ==

=~

SO|E, FAISHCE




2031. Define Essential Use Cases

Use Case 7. Start Stopwatch
Actor User
Type Evident

Pre - Requisites

Mode?} Stopwatch2 A7 [0 QL0{OF SHC.

Typical Courses of Events

(A) : Actor (S) : System
1.  (A) System0i| Stopwatch2| A|ZtS ’SQE .
2. (S) StopwatchOff XZHEl A|ZHEE C

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : StopwatchOf| Al EA|7t58t B2 |’89l Count up
(StopwatchZ} A|ZF &l AFEHO| A ZhA|ZF

XSS Z StopF 022 =7|3} ot f
(REA|ZH YEX| Bl 4O 2 7PR 8D O




2031. Define Essential Use Cases

Use Case 8. Pause Stopwatch
Actor User
Type Evident

Pre - Requisites

Xl System2| Mode2 Stopwatch O O OF S,
Stopwatch@| A|7+0| TIgH &FE{O[OfOF SHCF,

Typical Courses of Events

(A) Actor (S)System
1. (A) System%|A| stopwatch LA|™X|E QA ICL.
2. (S) U 52l stopwatch A|ZHS G X[BHCL,

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 9. Record Lap Time
Actor User
Type Evident

Pre - Requisites

Start stopwarch7} 2|0 = AE{ O OFSHCt,

Typical Courses of Events

(A) Actor (S)System
1. (A): Stopwatch ZIH =0 Lap time 7|52 QH DL}
2. (S): ® X stopwatch A|ZtS 7| &350 2 O{ELE,

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : Lap time 7| 22| £|Cj3tE 0|40 2 @H0| S0{Q M
b Qejel 7| 2HE A E AR D MZS Lap timeO]
7|28,




2031. Define Essential Use Cases

Use Case 10. Clear stopwatch
Actor User
Type Evident

Pre - Requisites

Pause stopwatch7t A3 E|0f /= AFE{ O OFSILE,

Typical Courses of Events

(A) Actor (S)System
1. (A) SystemOf Stopwatch2| X£7|3}5 Q &L},
2. (S) # X Stopwatchl| A|ZtS 022 X£7|3}stCt,
3. (S)2E LapTime 7|E5 AA|SHCE,

Alternative Courses of Events

N/A

Exceptional Courses of Events

rot

Line 1 : Pause”t tEl & EHO| A Clear@ HSIH FA|
Line 2 : 0X0| A 2| Clear 2 &3} ZA|SHC}

Ct,




2031. Define Essential Use Cases

Use Case 11. Delete alarm
Actor User
Type Evident

Pre - Requisites

alarm mode0f| =0{7}0f oL},

Typical Courses of Events

(A) : Actor (S) : Syste
1. (A AHE &
2. (S)uHE &

il
ou g 3

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line1: H[| )&=




2031. Define Essential Use Cases

Use Case 12. Activate alarm
Actor User
Type Evident

Pre - Requisites

&1 X Mode2 alarm O| O OF $tCt.
23N 7| = Y20l MEHZ|0f RLOjOf BHC},
SMTIA 7| = Y22 deactivate Q| AEf 2 QL 0{OF SHC}

Typical Courses of Events

(A) : Actor (S) : System
1.  (A) SystemOj|H| &2t
2. (S)oiZ alarm= &g

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: H|Of Q= LEO| 2d3t 2.
Line 2 : H| 243t UAes e




2031. Define Essential Use Cases

Use Case 13. Deactivate alarm
Actor User
Type Evident

Pre - Requisites

&1X Mode2 alarm 2 = 0fOf $HC},
S L2H0| activate AFEf O] OF SHCH,

Typical Courses of Events

(A) Actor (S)System

1. (A) SystemOf| A L& H|Z Y3t 22 otCt
2. (S) 3l alarm2 H|&d=t Lt
Alternative Courses of Events N/A
Exceptional Courses of Events | Line 1: H|0] = L0 H|Z-d3l 28, FA|stCt
Line 2 : 283} 5|0 Ql= YEO| HZdat 28, FAISHCH




2031. Define Essential Use Cases

Use Case 14. Set alarm
Actor User
Type Evident

Pre - Requisites

ModeZ} Alarm2 2 A g &|0f QLO{OF SHCF,

Typical Courses of Events

(A) : Actor (S) : System

(A) T8 LES ¢
(A) Sl alarm 2| A|
(S) oM +=got=
(A) 3l EHele| B
(S) 870 et Tl Al

(S) HAE A|ZHS BAlSD M
=3ict

zri rx
> >N T 0
EEMQ
_Frrl 0z 1
"‘—TEmIO
rulru Fg
o
Bra
E—'?—
i

]
rd
o Ol

ok wbdpE

Alternative Courses of Events

Line 2 : il alarmZt0| H|O{ /Y= H 2,

et

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 15. Notify alarm
Actor System
Type Hidden

Pre - Requisites

System@| &4 3}El Mode & alarmO| =X 50 OFSHCt
2 3tEl alarm@| A|ZHF System A|ZHO] 5 SFO{ OF StCt,

Typical Courses of Events (S) : System
1. (S) ®X{ AlZtat SystemO| & L3tH, beeps XS A7
CF.
Alternative Courses of Events N/A

Exceptional Courses of Events

rot

Line 1: 0|0| Beep”/t 2 &&0|H FA[BHC},




2031. Define Essential Use Cases

Use Case 16. Set case number
Actor User
Type Evident

Pre - Requisites

&1 Mode= Decision Making©O| O OF StC},

Typical Courses of Events

(A) Actor (S)System
1. (S) System Default Case NumberE HEA|SHC},
2. (A) SystemOi| Case Number2| =82 Q& strt,
3. (S) Case NumberS = strt,

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : |CH 2 %|A Case NumberZf =1} EE
=8 88 X E =15t 282 XA
of OI2H0| &l = =8 E2 X2 H7FoCt.

|.|-ul-
ux




2031. Define Essential Use Cases

Use Case 17. Get case
Actor User
Type Evident

Pre - Requisites

&1 Mode= Decision Making©O| O OF StC},
Set Case Number &2730| 2t= =l 2FEfO|O{OF SHCF,

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemO| Case Number O|L{2| Random Number
£ adqstrt.
2. (S) Actor®| Al Random NumberZ XS $HCt,

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 18. Choose a city
Actor User
Type Evident

Pre - Requisites

X Mode+ global time 2 = 0fOf $HC},

Typical Courses of Events

(A) : Actor (S) : System
1. (A: HES 0|83l =A|E ME4GHTY,
2. (S): Y ZAILS| AIRHE A4S

2o

l'-|>|

Ct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 19. Calculate time of city
Actor System
Type Hidden

Pre - Requisites

2H43l=l Mode & global timeO| QL 0{OF stC},

Typical Courses of Events

(S) : System

1. (S) oM 8 AlZkat s citye] AlXt

=
=

Ol

oto|

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 20. Change current mode
Actor User

Type Evident

Pre - Requisites N/A

Typical Courses of Events

(A) : Actor (S) : System
1. (A X C[2E2 0] £l= Mode HE S 27FotCL
2. (S) ¥ EAX|= model| C}S modeZ CIAEH0|E
Hetotot,

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 21. Select modes
Actor User
Type Evident

Pre - Requisites

AMAZERE 28822

rA

2ol A0 OF SHC.

Typical Courses of Events

(A) : Actor (S) : System

(A) Actor7 2432t modeS 474X| M E4SHCE

(S) MEHSH 47H°| RET X=X R=tlotot,

(A) Mode S 2’ 3tCt.

(S) ME#St B EZ Change current modeS S8l M &l
st 4= QI E 2 settingPHCt.

Eal S

Alternative Courses of Events

Line 2. Mode A 2HRI0]| A o| =2t C+S &%, Linel= ZO0FZICY,

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 22. Activate beep
Actor System
Type Hidden

Pre - Requisites

LEOIL} EtO|H S22 £ A|ZH0|

250 AO{OF Bht,

Typical Courses of Events

(S) : System

1. (S) YZO|L} EtO|HZ HE| BeepR&0| E0{QH,

O o o

Beepg= =2ICt.
2. (S)ActorZ} &2t0| 22[& X
oL},

%+ YT E [0

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2031. Define Essential Use Cases

Use Case 23. Deactivate beep
Actor User
Type Evident

Pre - Requisites

2E0| 22|= & O|0{OF BHCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) System0i| BeepS TX|E 2HBICt.

oo =X

2. (S) 2HIE ¥ Y B2, Beepa= SX|

rot

Ct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A
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2032. Refine Use Case Diagram

Digital Watch Software System

Set current time.

RDM Watch System

Start timer

Pause timer

@ @ 6. Notity the end
gF—
Pause stopwatch
5. Pause stopwatch
(”:‘L""L"D 19, Calculate time of city
o

= s 9. Record Lap Time
= = SRy =—=
\

il

e —
tor 10. Clear stopwatch 22. Activate beep
Reset alarm ““-_____‘

@

oo

__Setcase number

13. Deactivate alarm

Choose a city

18. Choose a city

N3

20. Change current mode
NN
21. Select modes

23. Deactivate beep

Deactivate beep
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2033. Define System Sequence Diagram

USE CASE: Set current time

(A) : Actor (S) : System

EH opq_

(S) e

o Uk W

(S)H™RE
C}.

1. (A) 24 section(X, &, Al, &,

M

—

Lo

&)

mjo

F sections 2 QICE.

(A) section2 =7 BtCt,

(S) 2t 2 F=C.

(A) B8 S =}

£ WHLIZEM AlZtE 2OlE

:System

Actor

loop J ;

1.selectUnitTime(unit)

Highlight Unit("Blink")

2. changeUnit()
Display Changes
.. Dis play Changes 4
3. setCurrentTime()
Set_OK

Display Current Time

E< .........................




2033. Define System Sequence Diagram

USE CASE: Set timer

Ol BN

(A) : Actor (S) : System

(A) B A|Zko| THolE Mey
(S) A +HH= AZko| T
(A) S EHglol Azt -
(S) 0| ma} thglA|zial
(S) HZHE AJZhe EAJSD
I} K| H= ShCE

—_

iz O

L
e

fujn r:o

fo
o2t
rot H

g
Il

o >

ox
rto ra

i

o
&

g

02 rE
el

1. selectUnitTime()

Highiight Unii("Blink')

2. changeUnit()

Display Changes

e LY




2033. Define System Sequence Diagram

USE CASE: Start timer

(A) : Actor (S) : System
1.  (A) SystemO| Timer2| Al Q& stCt,
2. (S)BEE U= AZHO|M FEf A Al
0| S E0f et 72 E CH2 9o

]

Ac'tor

1. startTimer()

:System

Reply Start

R A




2033. Define System Sequence Diagram

USE CASE: Pause Timer

(A) : Actor (S) : System

:Syst
2. (S) EX=0I Efo|0{Z MX|BHC}, e

1. (A): SystemOl 7| EfO|0| HX|2 @B}, ji\

Acior

1. pauseTimer()

:> Reply Puase :




2033. Define System Sequence Diagram

USE CASE: Clear Timer

(A) : Actor (S) : System

1.  (A): System O|A| EtO|TY =7|3tE 3t
c}.

2. (S): EfO|HE 022 HjLt, :System

3. (S): Eto|me| S = CiA| SOtzZtet.

Actor 1.clearTimer()

Reply Timer




2033. Define System Sequence Diagram

USE CASE: Start Stopwatch

(A) : Actor (S) : System
1. (A) SystemOf Stopwatch2| A|&S 2 &t

Ct,
2. (S) StopwatchOf K& & A|ZHEE Count

:System

u pE’.'_F I:I'. Actor

1. startStopWatch()

Display Stopwatch




2033. Define System Sequence Diagram

USE CASE: Pause Stopwatch

(A) : Actor (S) : System

getLt.

1. (A) SystemOj| Al stopwatch LA|HX|E &

2. (S) T F¢2l stopwatch A|ZHS FX|BHCL

System

Actor

1. pauseStopWaitch()

displayStopWatch

O ERGaEEEEEEEE R

.....




2033. Define System Sequence Diagram

USE CASE: Record Lap Time

(A) : Actor (S) : System

1. (A): Stopwatch 2 Z 0] Lap time 7| &=
(oRShoiug
2. (S): ¥ stopwatch A|ZtS 7| E38}0] E0

:System

_7,:_ I:I'. Actor

1. recordLapTime()

Display Lap Time '




2033. Define System Sequence Diagram

USE CASE: Clear Stopwatch

(A) : Actor (S) : System
ohCt.

ottt
3. (S)ZE LapTime 7|&

2. (S) # Xl Stopwatchll Al

1. (A) SystemOi| Stopwatch2| Z=7|3}tE

HS 022

r

:System

Actor

1. clearStopWatch()

Display Stopwatch

R EEEE

______




2033. Define System Sequence Diagram

USE CASE: Delete alarm

(A) : Actor (S) : System

L (M) AHE LES MY NS 2N
ct.
2. (S) MYE UG AxStD HOIFELL, System

Actor

1. deleteAlarm(alarmNum)




2033. Define System Sequence Diagram

USE CASE: Activate alarm

(A) : Actor (S) : System
1. (A) SystemOj|A &2

=

gddel 2ES

rot

Ct.

=20 =
2. (S) N alarme &3} et

:System

Actor

1. activateAlarm(alarmMNum)




2033. Define System Sequence Diagram

USE CASE: Deactivate alarm

(A) : Actor (S) : System

StC},
2. (S)SHE alarmS H|&

1. (A) SystemOf|H ¥& S Bt 2ES

)g §|_ 'c‘>'|-|:|- :System

—

Actor

1. deactivateAlarm(alarmNum)

| Deact_OK i
i e e ] e Ik




2033. Define System Sequence Diagram

USE CASE: Set alarm

(A) : Actor (S) : System

1. (A) =8 alarm= M EIBICE
2. (A) MEHSHalarmQ| A7EE A7 TR E M ,
EHo|-|:|- :System
3. (S) €78 B2 A|Zhe| e[ HA|THCL, Actor
4 (NS EHRIo| N7t BHE aEsiTy JERRRTRAREAREN
5. (S) 280l T2 EHYIAIZIHE HFEIC) SoecremEaTin
pARPS P E=Rye]
6. (A) Azt B-E ol'E_o._I'EI' ' Select_OK :
7. () HZE AZHS BAISID BE T2 S St i S, :
d 5 : -
80| AZ MK 2h=otct loop : 2.selectUnitTime(unit)
PN Highlight Unit("Blink")
3. changeUnit()
el Display Changes ..} !

4. setAlarm()




2033. Define System Sequence Diagram

USE CASE: Set case number

(A) : Actor (S) : System

1. (A) SystemOf Case Number®| =82 &
gotot, :System
2. (S) Case NumberS =M 3stC}.

Actor

1 1. setCaseNumber()

:‘ Display Modified Case Number
<




2033. Define System Sequence Diagram

USE CASE: Get case

(A) : Actor (S) : System

Ct.

1. (A) SystemOf Case Number O|L{j 9]
Random NumberS S & $tC}.
2. (S) Actor®| 4l Random NumberZ |5t

:System

Actor

1. getCase()

Display Random Number




2033. Define System Sequence Diagram

USE CASE: Choose a city

(A) : Actor (S) : System

1. (A):HES 0|83 =A|E M=t
2. (S): T ZAI2 A[KHE A LhBto] 20 :System

=Lt

Actor

1. chooseCity(cityName)

H Display city's time .
o A e et A e 1




2033. Define System Sequence Diagram

USE CASE: Change current mode

(A) : Actor (S) : System
1. (A X C|2ZY 0| &= Mode HZEZ &
gotet.
2. (S) ¥ EAHX|= model| LS modeZ
C|AE2f0[& Tetotrt

System

Actor

H 1. changeCurrentMode()

Display next Mode

Bmm e

—
"




2033. Define System Sequence Diagram

USE CASE: Select mode

(A) : Actor (S) : System
1. (A) Actor?} 24 %tet modeE 47tX| A1 EH

StCt,
2. (S)MHTIREE

:System

hange current modeS

m
fels
|->-
18
mot
A
b4e)

H o

o

£ setting®HCY. Actor

1. selectModes(mode1, mode2, mode3 , mode4)

H Display("OK!") !
:4...........-..........-....-.............-....d‘
H H




2033. Define System Sequence Diagram

USE CASE: 23.

Deactivate beep

(A) : Actor (S) : System

o o =

2. (S)Beepo= 3=

K| ghCt.

1. (A) SystemOi| Beep2 XIS 2EBICt,

:System

1. deactivateBeep()
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2035. Define Domain Model

Beep

activated: Boolean

1

1

RDM Watch System

available[4]: Mode

disable[2] : Mode

TimeKeeping

currentTime: Local Date Time

Timer

currentTime: Local Date Time
leftTime: Local Date Time

endTime: Local Date Time

Stopwatch

Mode

lapTime[10]: Local Date Time
startTime: Local Date Time

savedTime: Local Date Time

+ field: type

+ field: type

WorldTime

city[4]: Stirng

timeDifference[4]: Local Date Time

DecisionMaker

StaticTime

caseNum: Integer

alarmTime : Local Date Time

activated: Boolean

Alarm

alarmList[4]: StaticTime
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2038. Refine System Test Case

No. Test Description
1 Setcurrenttime | 7| =2 A|ZHO|AM A7HSHA|ZtS 2 SR A|ZHO| N|CH 2 B F | =X| TestSHLt.
2 Set timer TimerO| M AFE X 7F A7 A2t Gt 2 M E & =X] testPHCL.
TimerOf] AH =l A|ZHEE Timer7t A3 £| =X| TestPtC}.
3 Start timer
SIT) A|Zte] SE1H 5 US| Timer?t X3 | =X| Test$tC}.
4 Pause timer X HE S| ESt= M2 7 TN S A0 EFO|H 7+ H X|SH= K| Test SHEL.




2038. Refine System Test Case

No. Test Description

Timer2| A& A|Zt0| 02 2 X 7|3} | =X| TestSHC}.

Stopwatchl| A|7HO[ A[Zte| S E 0| 2} M| =2 S 7t5t= X| Test2HCt.

> Cleartimer | 11 12 Mxs) =1 MEHE 4742 ModeOll M |2l Al Z A S timer7t £ 7|3 =X test
olCt,
¢ | Notifvtheendof | . ot =2 cim HI2 Beep2 0| 22| = K| TestSHLL
timer
Stopwatch?t 0= £ E A| & E| =X]| Test®rCt,
7 Start stopwatch




2038. Refine System Test Case

No. Test Description

Stopwatch?t EX| H E0f| 5ff & ot= =7t FO{ M S StopwatchOf] EA|E T4 XY A[ZHO)|
8 Pause stopwatch e[ e "

M G| SH=X| TestSHCL.

. StopwatchOf| A Lap Time0j| sl & ot= =27t =0 R S StopwatchOf] EA|E XY Al 7t

9 Record lap time =

O| 7| & &| =X testtCt.

Stopwatch7t £7|gt2 2 M T =X| TestPtCt.
10 Clear stopwatch

MEHE 47K| Mode Ol M &I 9] 2 HQ £7|3t0 2 M & =X| TestotCh.




2038. Refine System Test Case

No. Test Description
11 Delete alarm AlarmO| 25 %X 7|3} £|=X| Test$HCL.
12 Activate alarm 243l =l Alarm A| 20| £| H Beep2 0| 22| & X| TesttL}.
H| =t 5l = A|ZEO| S S I 0 2| x| =X SiC
13 Deactivate alarm ﬁjj %i@?ﬁlﬁ/{;ﬁeé{ih l;(ﬂ Q| =l lLdBoeeS |l glukgi 2’- || = )I€| tlst;e[sfto s
14 Set alarm AlarmA|ZHO| ™M &l A| 2O 2 H A E| =X| TestPHC}.
15 Notify alarm =Sl Alarm 2t 2| =X| TeststCt,
16 Setcase number | &3t £t2 Z Case Number?} 278 &|=X| Test?tCt.




2038. Refine System Test Case

No. Test Description
17 Get case 21245t Case NumberLH 2| CaseBt L} @ =X]| TeststLt.
Random®t 2t 2 £ Case”} LI 2 =X| Test$HC}.
18 Choose a city MEIEI City2 A7 E[=X| TestBHCL.
19 | Calculate current SN A|ZE2 7| BHSHO] CHE City 2| A7t 2 A7 & =X TestPHC}.
time of that city
20 Change current XNEe HES 572 M, LS Mode 2 H & &| =X| TestBtC}.
mode
21 Select modes XNH=E HES =712 [, Mode MEHE© 2 HO{7t=X| TestPtC}.
Mode X EH & O| Al MEHSE47FX| O] Mode?| Activate SHA| A | =X| TestSHC}.
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2039. Perform 2030 Traceability Analysis

Ref# Function Use Case Number & Names Operation in sequence diagram

R1.1 Set current time »| 1. Set current time 1-1. selectUnitTime(unit)

R21 Set timer ey | 2_ St timeer 1-2_changeUnit()

R22 Start timer [ |3 Starttimer 1-3. setCurrentTime()

R23 Pause timer — | 4. Pause timer 2-1. selectunitTime()

R2.4 Clear timer ey | 5. Clezar timer 2-2. changeUnit()

R2.5 Motify the end of timer | —— | 6. Notify the end 3-1. startTimer()

R3.1 Start stopwatch 7. Start stopwatch b-1. pauseTimer()

R3.2 Pause stopwatch 8. Pause stopwatch \ 5-1.clearTimer()

R33 Record lap time j—-(9_Record lap time \ 7-1. startStopWatch()

R34 Clear stopwatch j—— | 10 Clear stopwatch \ 8-1. pauseStopWatch()

R4.1 Reset alarm > | 11. Reset alarm \9-1. recordLapTime()

R42 Activate alarm - | 12 Activate alarm \ 10-1. clearStopWatch()

R43 Deactivate alarm —| 13. Deactivate alarm \ 11-1. deleteAlarm(alarmNum)

R4 4 Set alarm »| 14 Set alarm \ 12-1. activateAlarm{alarmNum)

R4.5 Notify alarm | 15 Notify alarm 13-1. deactivateAlarm(alarmNum)

R5.1 Set case number 16. Set case number 14-1. selectalarm(alarmium)

R52 Gel case — | 17. Get case 14-2. selectUnitTime(unit)

R6.1 Choose a city | 18. Choose a City 14-3. changeUnit()

RG6.2 Calculate current time of that City |se—]19. Calculate time of city h14-4. setAlarm()

R7.1 Change current mode = 20. Change current mode f16-1 setCaseNumber()

R7.2 Select modes [ 21 Select modes 17-1 getCase()

R8.1 Activate beep -+ 22. Activate beep 18-1 chooseCity(cityName)

R8 2 Deactivate beep 23 Deactivate beep }20-1 changeCurrentMode()
\. 21-1 selectModes(mode1, mode2, mode3 , moded)

23-1 deaclivateBeep()




